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DE = EN = Pl = VN =
Elektrische Informationen 1 Electric Information 1 Informacgdes elétrico 1 Thong tin dién 1
de= kW: Nm x Drehzahl x 3.14 / 30'000 = kW kW bis KVA = KVA x 0,8 KVA = 80% kW 1PS/HP = 75 Kp/1 m/sec
Beispiel: 684 x 3800 x 3.14 / 30'000 = 272 kW Ampere: Watt / Volt = Ampere 1-Phase 1PS/HP = 735,49 Watt
Nm: kW / Drehzahl x 30'000 / 3.14 = Nmr Ampere: Watt / Volt / 1,73 = Ampere 3-Phaser 1 Kcahl/h = 1.163 Watt
Beispiel: 305 / 5000 x 30'000 / 3.14 = 582 Nm Volt: Watt / Ampere =V 1 Kcahl/h = 0.00158 PS / HP
1Kp/m/s = 8.4322 Kcahl
en= kW:NmxRpMx3.14/3 kW to KVA = KVA x 0.8 1 KW = 1000 Watt
Example: 684 x 3800 x 3.14 / 30'000 = 272 kW Ampere: Watt / Volt = Ampere 1-phase 1 Watt = 0.102 Kp/m/s
Nm: kW / RpM x 30'000 / 3.14 = Nmr Ampere: Watt / Volt / 1.73 = Ampere 3-phase 1 Watt = 0.00136 PS
Example: 305 / 5000 x 30'000 / 3.14 = 582 Nm Volt: Watt / Ampere =V 1.163 Watt = 1 Kcahl
pt= kW:Nm x rpm x 3.14 / 30'000 = kW kW para KVA =KVA x 0.8 de= Zum Berechnen braucht man immer 2 Werte
Exemplo: 684 x 3800 x 3,14 / 30'000 = 272 kW Ampere: Watt / Volt Ampere = 1-fase Volt, Ampere, Ohm (resistant), Watt
Nm: kW / rpm x 30'000 / 3,14 = Nrr Ampere: Watt / Volt / 1,73 = Ampere 3 fases
Exemplo: 305/5000 x 30'000 / 3,14 = 582 Nm Volt: Watt / Ampere =V en= For calculations allways you need 2 worth:
Volt, Ampere, resistant, Watt
vn= kW: Nm x rpm x 3.14 / 30'000 = kW kW dé& KVA = KVAx 0.8
Vi du: 684 x 3800 x 3,14 / 30'000 = 272 kW Ampere: Watt / Volt Ampere = 1 phz pt= Para os calculos sempre que vocé precisa 2 pena
Nm: kW / rpm x 30'000 / 3.14 = Nrr Ampere: Watt / Volt / 1.73 = Ampere 3 phz Volt, Ampere, resisténcia, Watt
Vi du: 305/5000 x 30'000 / 3,14 = 582 Nm Volt: Watt / Ampere = V
vn= DE tinh toan ban luén ludn can hai gi tri
DE= EN= PT= VN= volt, Ampere, dién tro, Watt
de= Volt = Bestdndig x Ampere P = Watt P = Watt P = Watt P = Watt
Bestédndig = Volt / Ampere | = Ampere | = Ampere | = Ampere | = Ampere de= Berechnen Sie: Motor 30 kW, 1400 Drehzahl = ................ Nm
Ampere = Volt / Bestandig U = Volt U =Volt U =Volt U =Volt Motor 1,5 kW, 400 V, 3-Phasen = ................. Amper
R=0hmQ R=0hm Q R=0hm Q R=0hm Q 400 kVA =
en=Volt = Resistant x Ampere 400V, 10 Amp = Q
Resistant = Volt / Ampere U=RxlI U=RxlI U=RxlI U=RxlI en= Calculate: Motor 30 kW; 1400 RpM = ................ Nm
Ampere = Volt / Resistant R=U/I R=U/I R=U/I R=U/I Motor 1,5 kW; 400 V; 3-phasen = ................. Amy
I=U/R I=U/R I=U/R I=U/R 400 KVA = oo, kW
pt= Volt = Resisténcia e Ampere 400V; 10 AMp = .eoeveeienne Ohm
Resistente = Volt / Ampere pt= Calculate: Motor 30 kW; 1400 rpom Nm = ............... Q
Ampere = Volt / Resisténcia Motor de 1,5 kW; 400 V; 3-phasen = .................
400 kVA =
vn=Volt = Resistance va Ampere 400V; 10 Amp =
Khang = Volt / Ampere de= (Information: / = Division) vhn= Tinh toan: DOng co' 30 kW; 1400 rpm = .....coeveneee N
Ampe = Volt / Resistance en=  (Information: / = division) DOng co’ 1,5 kW; 400 V; 3-phasen = .................
pt= (Informagdes: / = divisdo) 400 kVA = ..overee kW
vn= (Théng tin: / = bd phan) 400 V; 10 AMp = .oovenrenens Ohn
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